
1

Exchange

Indata: vektor

i = 0

Stopp

i < 
vektorns 
längd - 1?

minst = i

j < vektorns 
längd 

j = i + 1

true vektor[minst] > 
vektor[j]

Swap
(vektor, minst, i)

true

false

false

true

false

minst = j

i < minst
true

false

j = j + 1

i = i + 1

Rättelse figur 11.8

Indata: 
vektor

i = 0

minst = i j = i + 1

Swap
(vektor, minst, i)

Exchange

Stomme
Yttre loop

*

(i < vektorns längd - 1)

Stomme
Inre loop

(j < vektorns längd )

*

o

( vektor[minst] > vektor[j] )

Selektion j = j + 1

Selektion i = i + 1

minst = j

(i < minst)
o

Rättelse figur 11.9


